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5 (a) State two objectives of inspection in manufacturing and production. (2 marks)
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(b) Explain the following quality control inspection standards: -
@ standards for raw materials; - Stundeide cnfied W Crtane Quantty  ingre o
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(i)  standards for work-in-progress; ' "‘“sc brging
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(iii)  standards for finished products. - ouipis Pvoda g (6 marks)
(c) Describe the following control charts used in quality control:

(1) Mean chart.

(ii))  Range chart. (4 marks)
(d)  Table 1, indicates the number of points defects on the surface of an aircraft body.

>

Table 1

BodyNo. (1|2 {3 |4}5|6|7|8|9|(10|11|12]13]|14|{15{16({17|18]19|20

No. of 212 14t TES PO AT 29 805t 510 331 ) 15
defects :

(1) Compute the:

(D average number defectives;
(I)  upper and lower control limits.

(i)  Construct the control chart.
(8 marks)

e S (a) State four contents of a job description. (4 marks)
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(b) Explain the following leadership styles:

() the situational leadership; - lc-dect p dop & Stangic ocen,
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(ii)  the appointed leadership.
Lea desGhep o @ SUG el iadio dua (4 marks)

(c) Outline the seven—pomt plan used when recrumng personnel (8 marks)
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(d) Describe the followmg methods of tralmng

(i) on the _]Ob training;
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(i) apprentxceship training.
(4 marks)
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3 (a)

(i)  Sketch the project cost curves for a typical project. |

(i)  Explain the application of the project cost curves in determining the optimum
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project duration. (6 marks)
(b)  With respect to plant layout, explain the need for ventilations and air-conditioning.
— Blrey Woviciny (ordirue £ Plyeog = O biin, et 2 bu g (2 rnarks)
— Concugice Haafcas lgr 2 Ll
(c) Table 2 shows data for the production of equipment “M”. The equipment consists of
three parts A, B and C. The parts are assembled together after manufacture. Part A is of
cast iron which requires a pattern and a mould. Part B is to be machined on a special
machine and then heat treated before assembling. The assembly has to be tested with a
specially fabricated rig before dispatch.
Table 2
Activity | Description Dependent | Duration
Activity Days
1 Preparing pattern for casting part ‘A’ None 5
¥ Preparing mould for part ‘B’ 1 1
3 Casting and cleaning of part ‘A’ 2 2
4 Heat treatment of part ‘C’ None 2
5 Obtaining and installing machine ‘M’ None 8
6 Machining part ‘B’ 5 3
4 Assembling parts ‘A’, ‘B’ and ‘C’ 6 &
8 Preparing test rig ‘D’ None 3
9 Testing assembly ‘E’ 8 4
10 Packing and dispatch ‘F’ F 1
@) Draw a Gantt chart of the activities.
(i)  From the chart, determine the project completion time.
(12 marks)
4, (a) Define the following as used in inventory control:
(i) lead time;
(i)  economic Order Quantity.
(2 marks)
(b)  Describe the following types of inventory control systems:
(1) re-order level system (ROL);
(i)  periodic review system (PRS).
(4 marks)
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(c) An industry has an annual usage of 6000 units of a component purchased at Ksh. 20
each. The ordering costs are Ksh.150 per order and the annual holding costs per
component are Ksh.0.5.

Determine the optimum number of orders per annum. (14 marks)

XS. (@)  Describe the following types of plant layout:

(1) process layout;
(i)  product layout.

(6 marks)
(b)  Table 3 shows factors considered in the selection of site location of a factory.
Table 3
Factor Unweighted site evaluation Weighting
Site 1 Site 2 Site 3 %
Labour 10 8 7 40
Raw material 8 7 6 20
Power 8 7 10 10
Transport 7 9 8 10
Local taxes 6 10 9 10
Climatic 3 9 10 5
Conditions
Politics 6 5 10 5
Determine the most desirable site location using the “operation research technique”.
(14 marks)
< 6. (a) Define management. - potees o+ Conemling , Plunning avd oxpanBing (2 marks)
NSanll =nd Fertg mun ‘hj moeet u_‘ Gong
(b)  Explain the following management activities:
(i) planﬂjng; = {\ue\-:rh up Wil '.(‘f;‘f.r\' O+ Manug rmirs N Gm vy
(11) orgamzmg = Mherasipaias  Geis Y VRt el
(6 marks)
(c) Describe the following concepts as used in strategic management,
—Sin= e
()  SWOTAnalysi; ~ “oes
(i)  The Boston Consultative aléoup Matrix (BCG). f
st —ﬁ?:;»;_;:;:’_qh;_ s — e b depeipa (8 marks)
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(d) Ilustrate the rational concept of an organisation structure as expounded by Henry
Mintzberg. fit (4 marks)
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Define marketing. (2 marks)

Describe the 4 Ps of marketing. (8 marks)
—Pwodurtun - Planna; .-; - Pwiédaty = Pruhe
H}ghllght any four objectives of budgetmg (4 marks)
Epe vy an ) LS *‘“W‘ . s e | oy “Minitvae d g o NTC e
Describe the followmg classes of bu&g bl :
(1) master budget;
(i)  production budget;
(iii))  sales budget. '
(6 marks)
Diw powr retnug
Outline the procedure for carrying out work study. e = ocm f (8 marks)
b e ingte i
Explain the following errors associated with work samplfng techmques
(i) observational error; - -
(ii))  experimentalefror. - o ouvov
(4 marks)
Describe the following stages of performing time study in work measurement.
@) analysis of work; - v xupein Ay ot i e dimg
(i)  standardisation of methods.
O, DeHne inGrec pnctbode ;- : (4 marks)

o stundadized Prhepieg

An operator manufactures 50 units in 6 hours and 30 minutes inclusive of time for
setting his machine. If the standard time allowed for setting the job is 35 minutes and
the production time per piece is 8 minutes.

Calculate the operator’s efficiency. (4 marks)
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